
2021

2020 8 25 10 00 –10 45

[ ]

1. 3

2.



[ 1]

, .

,

. , a ,

. 1 , ,

2 (r, φ) , r(φ)

.

d2r

dφ2
− 2

r

(
dr

dφ

)2

− r +
3

2
a = 0 (1)

, . ,

.

1. , .

2. r(φ) u(φ) ≡ 1/r , (1) u(φ) 2

.

3. 2 , V (u) = u2 − au3

. , C .

(
du

dφ

)2

+ V (u) = C (2)

4. 3 V (u) u . V (u) , u

. , u 0 < u ≤ 1/a .

5. 1 . r → ∞ r sinφ = b

b , b > 0 , b (2)

C .

6. 5 , 1 ,
du

dφ
> 0 . , 0 < u ≤ 1/a

du

dφ
> 0 ,

. b

.

7. (r ≤ a) ,

. 6 , 6

. ,

3.0×107 km ,

M . ,

. , a a = 2GM/c2 , G = 6.7×10−11

m3 kg−1 s−2, c = 3.0× 108 m s−1, M� = 2.0× 1030 kg

1



r b

a

1: .

2


